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Problem 7-10 

White light (400 to 700 nm) is used to illuminate a double slit with a spacing of 1.25 mm. An interference pattern falls on a screen 1.5 m away. A pinhole in the screen allows some light to enter a spectrograph of high resolution. If the pinhole in the screen is 3 mm from the central white fringe, where would one expect dark lines to show up in the spectrum of the pinhole source?
Sol：欲使得pinhole source = 暗紋位置
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    又知道white light的波長範圍是 400nm~700nm
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所以我們可得知，在white light 波長為 556nm 及 455nm時，暗紋位置會恰為針孔位置。
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